


v BRI 1
e 1
S BORMEERHRAR 2
M BEEER 5
Hy SEERBERBERT 6

e




I e Gz I

BRESMAIER (B mERERE. BE. BRI T, JHFaEirE
. R A SAMERH — R R, i E TR T AR R, TR R R
SEAEENSELE. RETHES H R E A RAREREN (CRE) WS
PR IR TR A Je 1 B MR A #E = B, BEX #1647 R I AL
W E AR S H B IR ER AN 2 5, P EBEREIRRHEIRAS T (P0=101. 325kPa,
T0=293. 15K) [EFLE & .

AP EPAT AN RILFNENURAT AR 1 JB/T7385-94 (S ARMEFC AT ANl
KAV ARvEQ/ZCY 05-2002  (LLQEVS AR ETT) .

W O ER, B, N TR AP, TEAles:, RiF
(M, BRI ETH R A, TEEmK.

W AR EATFEEER, T ZRENRERERNSE .

B e/, ERELE, 8T ERAEI RIS ARE.

W ERAEAZE R R, ke, Bk

W ELE, A RS I A AR Y ] A e B A

W fiC ERS-48518 i N IC K& H{E ST A ALE, H nl B GPRS/CDMA,
internet. HLIEMZEHMmFRHHE KB MIE RS, (FTHIENEFRE

Asiz
NN
W OEECRARM A T2, %%, BiTEEInE. EErtm.
B K H S PERE AR B BRI ILARE IR EOR, AT REsE R, PEREARE.
B RHEAEENLBOGE R ENEIE, JHA MR 2R E DR
B CKHBEIFE R EAR, W MR EE R AR, BEHLDHFEMR, U —793. 6VDC

PR, AR TAE =40 L.
B R EE, JFd 2 PE S D RE.
SR RO LS B A R A%, AT RARE R E . PR E . TOUE
SR E A AR S AEME I E TR, R SRR
HA L R DhRe, Bibs £ NExibl1CT4 .
B RE RS N IP65.

e,




I — ez oIz

3.1
AR5 ER AL (D

L HRER S 20 VRICRE 3. FEfEma
A EEAERE 5. USBERIRIT B
L R

3.2

BAAIER (PO BRI, A, TR T, R
R 2 T RS PR EAE TEUUE T 0t A 1 2
(PSP T, ERDH ST P e 6 e (5 E A
BTl Fe il T R SRR R (L, SCIL T R 0 T
b e TR T D G R S AR A, e TR SE i
B BTG BB AL 6 50 AR A 88 AT S
EER At MRS SeRC RN TR L E S IV ER
) .

frdE 1 frE 2 frE 3 frE 4

K2 AR R T LA R

W




N e Gy I

3.3

B AE UL P s PR UL AT [ A AS AP TS A SR A I DA S A B S
TRk, JFECASMEE S EE, M A RE T . BRI R g B AL B AR 15
ARTTRERATIRIEAME, JFEHAT IR T IE, ST

o

Qn: ARAERIRES FRABRGE (n3/h) ;

Qg: LHRE TFHERRE (n3/h) ;

Pg: WEIFEIRN S RE (kPa)

Pa: M K<k (kPa) ;

Tg: MFRAILSHERE (273.15+t) (K);

t: A BUREE CC)

Zn: AR T B R 48 R4

Zg: TAERE T HIEY R4

Tn: FRAEIRE T IIZLXHRE (273.15+20) (K);

Pn: FRdEKSE (101,325 kPa) ;

P: P= Pa+ Pg,

T KT RIRRZIn/Zg=Fz2, FaRRABEARRET, A7 i A T R AR U
T B ARAESY /T6143-1996 7 1) AFGHEAT T

B3 B REIL B s B EEAE




- [CECIENOPN

3.4
PAT bR vE HHREERERENNE— (ERERRET) (JB/T738594)
{0 42 Jp %7550 254 40, 50, 65, 80, 100 FHIVE 244
i P S5 +1.5% R
1R Tk B BT MIERA S it SS304
NRIRE: 10C~+60C  FEEE: 30C~+60T
BEF AT FARHERE: 5% ~90% KA S 86~106K Pa
. AAMEYR: +24VDC
LA B.AHLYE: 177 3.6VDC 4
A AR, <AW
AL BLAIHIE: TR A = U b
55 DhRE OKMES. @4~20mA BFEES, @ KEHIES
H S H ThRE RS485 @il
SEINO S I RE EAEINE. Hidat. ENa)E bt
S50 M 20%1.5
By 42 S5 ExblCT4GB
g iake ¥4 P65
A:
AN R T AN R T B2
AN RT3
N . /sHa




. peisiegGee;ey o

B:

4

DN25 0. 6~25m3/h 390 180 171.5 85 M12*35 11
DN40 0. 8~40m3/h 410 180 171.5 110 M16*40 11
DN50 1~85m3/h 420 180 171.5 125 M16*40 1.6 12
DN8O 2'5~1%2{200m3 490 180 171.5 160 M16*4 14
DN100 6~300/450m3/h 630 210 245 180 M16*40 30
ui B
HoLwq (OO (O
wE B M BREL GO HL/ Bkid/4-20mA LI /RS485)
s | D i MR GRS/ ) /0 HL/ kb / 4-20mA
13t/ 1C-K /MODBUS485)
25 25 mm
1 40 40 mm
% | 50 50 mm
1] 65 65 mm
% 80 80 mm
100 100 mm




- [UEINGIE

~ A% | K D = s | GRS i
7l o 14 i
(mm) | (mm) | (mm) | (mm) | (MPa) (um) L
T6-25 | 25 125 | 160 | 140 | 1.6 5 MI2 — 4| B4 4
TG-40 | 40 145 | 160 | 140 | 1.6 5 Mi6 — 4| 8BE54
TG-50 | 50 155 | 160 | 140 | 1.6 5 Mi6 — 44| 8B4 4%
TG-80 80 230 | 180 | 170 | 1.6 5 M16-81 | S26 4%




. peisicyGee;ey o

TF IC

At 9 T A AR SRS RN IC R GBI R Uk R g4l k. B
AHEN T WETTIEE. DIRESEE . 4G AR . B I A5 R AR X
ihy BRI WS o BIEE R . BAZ MR DR, RIE T RAIBITIE
A ST REME . SCEBR ST PR I R RE AL B

A I B FRAEQ/TYZN002-2015 (TF R ICRBAS I hI28) |
GB3868. 1-2010 (HERIETEMEE SE1E 7 W WHZR) . GB3868. 4-2010 (AE)IE
PEIRES BSR4 HARBUZ R “17 (R4

2

D) RTINS & S A HIThRE: A8 IE RS BT S Al H 2 BRI A 1R

I, MR ERE R E 1E SRR A (8 A MR, R 3 shocpfhlie, YIS
P, A SRR “TYsE”, MEFT NSRS AR BRI E SRR .

2) KW RTINS RGBSR, RE. s, KB, R
MR RREE L.

3) KRR B BTy PR KA R s, — AT RIE — 4 AR
EERLEE g a]

4) $ ) 2R BT A FEt RS I 3 B8 LA B A IR R T F R A Th AR, M
T
HEANCH, REEIRAR M7 HFHRE, JREEF 5 i, YR EIA
AN B ) 3R R M A AR F BN, R 3R A SIGIR T OC ], iR )E, R
GuA RS IER TAE.
b ) A ZSRAR T EMALE, BMAS2CR123A 6. OVA—IRMEMH, HB

AR T-4. OV BoR48 KR, RONE#H B, FREMBFS KRR,

FA P AT e R B 4 LA B 5 B =

2) P S N BRI R, BEEERE B ER RH ARa EE, B

Bei 7E F B AT

o I




RGP

3 IC

AR N
AR i
KEEALAA T V) 1 0% 58 L %
1C ;
+ :
. s i B :
TN % 4 .
TR PGtk =] <I—_J> BIREICE ) [CE2 B %
;% EREM RS
J | I : IR BT
F Y A AR TEf TN 2%

4.1

B .s5a




ey

Z\iﬁ Uthss A D K d b f Z-D H

1z

(mm) | ———— (mm) | (mm) | (mm) | (mm) | (mm) | (mm) e (mm)
DN25 TF-25 220 | 115 85 65 19 2 4-14 220
DN40 TF-40 248 | 150 110 84 22 2 4-18 225
DN50 TF-50 | 317 | 165 125 99 25 2 4-18 300
DN8O TF-80 | 317 | 200 160 132 26 2 8-18 246
DN100 | TF-100 | 352 | 220 180 156 26 2 8-18 270
DN150 | TF-150 | 400 | 285 240 210 27 2 822 300
DN200 | TF-200 | 416 | 340 295 266 31 2 12-22 336
DN250 | TF-250 | 425 | 405 355 319 33 2 12-26 366

AR EE: —20°C~+60C AR EE: —20°C~+60C

AHAHEE . 5%~90% KAJES1: 86~106KPa
A A AN IIRES, R 2B P AN USRS, 8 B
. MYREE

PEbi SR TR _EA MRS R B R TR R & A M TCR R 3

W o SRR A )\ 7 s, o B 76, N AL, DR
KN TASAEH MRS ERE LS “RE” . “RE” . “HE” . K
B L BRT o HR BT I Ran iR H G R R R TEM R RE, RS
5 R BEI o S s TR .

RN N | AR ERECIRAS MBS ] 25 2 Ab TR ARAR
AN, BEEAET  15 H I e R s = AR A P AR AR SR LR G
e RS GE: BT B, e Er <8, 3B FErm
FERRAE, RSB E, WU TR TR, O TR AR BRI A2 S
R HAE

e,






